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Multiplikation - vertikal Name:
L 0se jede Aufgabe. Antworten
1y 552 2) 110 3) 497 4) 681 X
. 23 82 . 42 . 87 '
2.
3.
4.
5) 277 6) 904 7) 321 8) 103 i
. 81 23 . 45 .« 47 '
6.
7.
8.
9) 112 10) 732 11 524 12 796 .
e 51 74 . 23 e 40 '
10.
11.
12.
13) 669 14) 683 1D 828 16) 552
13.
. 68 92 . 12 . 59
14,
15.
16.
17) 794 19 306 19 174 20 645
17.
. 56 76 . 83 . 67
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplikation - vertikal Name: L Osungsschliussel
L 6se jede Aufgabe. Antworten
1) 2) 3) 4)
552 110 497 681 L 12696
o 23 . 82 . 42 . 87
1.656 220 994 4.767 ,  9.020
+11.040 +8.800 +19.880 +54.480
12.696 9.020 20.874 59.247 3 _ 20874
. 59.247
5) 6) 7) 8)
277 904 321 103 . 20437
. 81 . 23 . 45 . 47
277 2.712 1.605 721 & 20.792
+22.160 +18.080 +12.840 +4.120
22.437 20.792 14.445 4.841 7. 14.445
s 4841
9) 10) 11) 12)
112 732 524 796 . 5712
. 51 . 74 .23 e 40
112 2.928 1.572 31.840 o 54.168
+5.600 +51.240 +10.480
5.712 54.168 12.052 1. 12.052
5 31.840
13 14 15 16
) 669 ) 683 ) 828 ) 552 45490
. 68 . 92 .12 . 59
5.352 1.366 1.656 4.968 u  62.836
+40.140 +61.470 +8.280 +27.600
45.492 62.836 9.936 32.568 15 9.936
16, 32.568
17 18 19 20
) 794 ) 306 ) 174 ) 645 I, 44464
. 56 . 76 . 83 . 67
4.764 1.836 522 4.515 s 23.256
+39.700 +21.420 +13.920 +38.700
44.464 23.256 14.442 43.215 0. 14.442
0 43215
1-10 195(90(85|80| 7570|6560 |55 |50
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